
Lösung zu Vektorielle Geradengleichung

A 1: ..{ Lös.: a) g1: x=213⋅213 ; b) λ=-2 => P2 Є g1; c)

g2: x= p2⋅ p3− p2=−31−1⋅−113  }

A 2: ..{ Lös.: a) g: x=23⋅−1−2 ; b) AB=−1−2;AC=0,51  => 

parallel => C liegt auf g; c) m = (-2)/(-1)= 2; n=-1; y = 2x-1}

A 3:..{ Lös.: a) g: x=−510⋅ 6−8 ; b) x=0 => µ=5/6; y=0 => µ=5/4; 
c) m=-4/3 } 

A 4:..{ Lös.: a) g: x=2,53 ⋅1,53  ; b) y=2x-2; c) k=0,5 }
 
A 5:..{ Lös.:a) AC: x=−1−2⋅55 ;BD: x=20⋅−11  ; b) S(1,5/0,5) 
c) k=1; d) A=5FE }


